SFGHEIASH (AER)

P T R SR ST T ONES) e H

e fif R R 71 R
(s L B )
ik H178 K R (ce) - ok AR
o s, — — fiité A — — — —
A w0k | KRS 7 bt G | ) | ) P H ) | i) | gl

101|R#A7 L 314 191 123| Kg |EE 1,404 324| 5 3,240 432
102|357 L 1,350 1,350 Kg S - BIE 3,305 579
111|&EEF £ 386 32 354 Kg |ER 1,188 ERE - &4 1,728 516
113|RAV S 7 71 Ke = 4,860 3,780
114|B5EFE 155 155 Kg e 2,538 1,188
15[ 1= 2 1 1| Keg |EE 5,185 323| & 3,780 1,080
117[1E 431 180 251| Kg |EE 1,728 486| L 3,780 864
121|hbixE 21 8 13| Kg |EE 1,566 431| & 1,620 1,188
134[#= = 715 400 315 Kg |®) - =8 2,592 864 | 2,700 864
140(5 I 19 19| Kg ffE 97,200 5,400
147|E2 O 86 1 85| Kg |£EE 9,720 2,700|#8 - K 8,640 5,400
158|&TEN A IEH 222 1 221| Kg |EE 162 =15 2,106 1,296
201|{Lb L 267 267| Kg B4l 396 324
203|/hé L 100 100[ Kg 3= 351 162
205|585 L 181 181| Kg AR 900 608
206| = 1F 625 625 Kg =5 648 432
207| = AE 118 118 Kg sl 2,970 1,134
208| Mo % 388 388| Kg L 1,512 464
2094 B & LA 153 108 45| Kg |=# 729 =yl 1,566 864
210{1F AL 40 40 Kg |Ei& 8,100 2,835
212|&5E.3 Y 143 143| Kg El - BERE 2,160 1,300
252|L0AEECH 87 87 Kg |8 3,272
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54| Eh1cECH 489 489 Kg 2Pl 1,998 1,166
3031 A 7Ly 91 10 8l Kg [|Ri& 475 432| B8 - A 756 500
305[£Aah 0% 9 9] Kg &I 3,564

306|L e k) 50 50 Kg RI& 3,564 810
315|7: B9 6 34 34 Kg Eid 5,400 4,104
319|h o 51 511 Kg BJE 2,052 1,620
332|113 WA =EF 138 138] Kg Bl = 2,808 1,728
351(4EH 48 20 28| Kg [3&E 4,320 3,780|F % 18,900 3,240
3/5|HEY) 145 145 Kg A - EE 1,620 600
356|L LA 65 65 Kg SHR 1,512 972
357\ E 20 20 Kg FEE 1,944 1,148
358| KE 13 5 8| Kg [EA 1,612 A0 2,916 1,944
401|H W 65 65 Kg Iz & 1,944 1,404
4025 5 &E 28 28 Kg REA 35,640 4,644
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507|@— L Ly 100 100[ Kg hE 702
5124 A L 270 270| Kg b 1,450 594
523|AEAAT 2 O 271 271 Kg Bh 4,608 1,140
54| AEE E XV 119 119| Kg =] 1,500
558| 99 99| Kg b 1,296 972
560|487 2 150 150 Kg =] 2,680 1,000
566|4R A < 62 62| Kg b 5,800 950
5764 X 1F 125 125| Kg b 1,080 1,050
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70110 BA 6,691 3,317 3,374 Kg |EE 3,452 1,512|&E 3,068 1,296
705|7=2< ¥ 2,291 2,291 Kg LA - X 3,348 2,808
710(2 2 AT 100 100 Kg =y 1,553 1,170
BlEFAI L 62 62 Kg SR 1,782 780
755|FH&» C 319 319 Kg EE 926 540
56| £ T 28 28] Kg K& 1,588 36
76l|b Y AEE 6 6 Kg FJE 3,086
B01[IBAL = 1S 633 633 Kg tmE - mA 2,484 626
802|1 x| 20 201 Kg mE 1,296
8051 1E 252 2521 Kg JbiF 972 716
810|FAKF 64 64 Kg bF 4,104 2,268
8lh|—W T AX 10 10 Kg blo ] 1,296
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